A%

<@ Tor AIr

PROFESSIONAL & HIGH QUALITY

- ERSRELER SR & RN LR - FIRTEEZ
FUhEE ~ H# Bl & #EIRE

- ATEIEIF SRR 2R - falE R BRI
HAGEATE -

- BRI E I IEIEREE -

i) 5 D10G-1L \ D10G-1M
Ea il A = ®12+16+20+25~32~40~ 50~ 63
[Ed F i £ EREZBMZER CHEEREE)
B R B H & E 2.04 ~ 7.14 kgflcm®
#F B & E & EF -10 ~ +60 °C ( FE#E )
Fil 5 M B HEE
57 BE 1K 5%
D10G-1L 40 50 - A 1
| | | | |
C Bx | RE| 7R | | BEEE | BB
[ [ [ [ [
» 12: ®12 1KIEHE LNO9SD 1:11@
@ D10G-1L 16 : ®16 ‘?i'*%i% 2:2@
: ‘ 20 ©20
25: ®25
"% 321 032
e D10G-1M 40 : D40
50 : ®50
63 : ®63
EEITRER
FEIAE BEAE1TEE (mm) FRfETAE
®12~ 16 10,20,30,40,50,75,100  |EERME#EITIZLIINZ PRI » BUARBFEUES o
®20+25 20,30,40,50,75,100 H 012~ 32 LE 1mm BNEEZ 1 040 ~ 63 LIE

®32+40~50-63

25,50,75,100

5mm EtEZ o

BN
T B (kgflcm?)
REAR B (mm) ZERETE (cm’) 0.2 0.3 0.4 0.5 0.6 0.7
A B A B A B A B A B A B

»12 6 113 23 | 17 | 34 | 25 | 45 | 34 | 57 | 42 | 68 | 51 | 79 | 59
»16 8 201 40 | 30 | 60 | 45 | 80 | 60 | 101 | 75 | 121 | 90 | 141 | 106
®20 10 314 63 | 47 | 94 | 71 | 126 | 94 | 157 | 118 | 188 | 141 | 220 | 165
»25 12 491 98 | 76 | 147 | 113 | 196 | 151 | 245 | 189 | 295 | 227 | 344 | 264
®32 16 804 161 | 121 | 241 | 181 | 322 | 241 | 402 | 302 | 483 | 362 | 563 | 422
»40 16 1257 251 | 211 | 377 | 317 | 503 | 422 | 628 | 528 | 754 | 633 | 880 | 739
»50 20 1963 393 | 330 | 589 | 495 | 785 | 660 | 982 | 825 | 1178 | 990 | 1374 | 1155
»63 20 3117 623 | 561 | 935 | 841 | 1247 | 1121 | 1559 | 1402 | 1870 | 1682 | 2182 | 1962

® 23-01



<@ Tor AIr

PROFESSIONAL & HIGH QUALITY

(| Feeloy il B kg

JE 17 %2 (mm)

UL PAE 10 20 25 30 40 50 75 100 125 150 175 200
12 0.24 0.28 — 0.31 0.35 0.39 0.50 0.59 - - - -
®16 0.33 0.38 — 0.43 0.48 0.53 0.68 0.80 — — — —
®20 - 0.67 - 0.75 0.83 0.91 1.17 1.37 1.57 1.76 1.96 2.16
®25 - 0.95 - 1.05 1.16 1.27 1.65 1.92 2.19 2.47 2.74 3.01
®32 - - 1.69 - - 2.07 2.47 2.85 3.24 3.62 4.00 4.38
®40 - - 1.95 - - 2.37 2.83 3.25 3.68 4.10 4.53 495
®50 — - 3.36 - - 4.00 4.73 5.37 6.01 6.65 7.29 7.93
D63 — - 4.18 — — 4.94 5.78 6.54 7.29 8.05 8.80 9.56

@ RIREMHEY B kg

R 17 # (mm)

RULPAE 10 20 25 30 40 50 75 100 125 150 175 200
®12 0.24 0.27 — 0.30 0.35 0.39 0.47 0.56 — - - -
»16 0.34 0.39 — 0.43 0.51 0.56 0.67 0.79 - - - -
®20 - 0.70 - 0.77 0.89 0.97 1.14 1.31 1.52 1.69 1.87 2.04
®25 - 0.98 - 1.07 1.25 1.34 1.57 1.81 2.08 2.31 2.54 2.77
®32 - — 1.54 — - 1.85 2.30 2.62 2.99 3.31 3.62 3.94
40 - — 1.79 — - 2.15 2.64 3.00 3.42 3.78 414 4.50
®50 - - 3.1 - - 3.66 4.41 4.96 5.60 6.15 6.70 7.25
»63 — - 3.93 - — 4.59 5.46 6.12 6.88 7.54 8.21 8.87

CA=EESEN SRR RET A A T(N - m)
1
(Do)
\
{ Fohey izl ; BTN -

= 17 # (mm)

LA 10 20 25 30 40 50 75 100 125 150 175 200
12 0.39 0.32 — 0.27 0.24 0.21 0.43 0.36 - - - -
®16 0.69 0.58 - 0.49 0.43 0.38 0.69 0.58 - - - -
®20 - 1.05 — 0.93 0.83 0.75 1.88 1.63 1.44 1.28 1.16 1.06
®25 - 1.76 - 1.55 1.38 1.25 2.96 2.57 2.26 2.02 1.83 1.67
32 - - 6.35 — - 5.13 5.69 4.97 4.42 3.98 3.61 3.31
®40 - - 7.00 - - 5.66 6.27 5.48 4.87 4.38 3.98 3.65
®50 — - 13.0 - - 10.8 12.0 10.6 9.50 8.60 7.86 7.24
D63 — - 14.7 - — 12.1 13.5 11.9 10.7 9.69 8.86 8.16

@ REREHHEEY B IN-m

e 7 %2 (mm)

TP 10 20 25 30 40 50 75 100 125 150 175 200
12 0.61 0.45 — 0.35 0.58 0.50 0.37 0.29 - — — —
®16 0.99 0.74 — 0.59 0.99 0.86 0.65 0.52 - - - -
®20 - 1.26 — 1.03 217 1.94 1.52 1.25 1.34 1.17 1.03 0.93
®25 — 2.11 — 1.75 3.37 3.02 2.38 1.97 2.05 1.78 1.58 1.67
®32 - - 5.95 - — 4.89 5.11 4.51 6.34 5.79 5.33 493
®40 - — 6.55 — - 5.39 5.62 4.96 6.98 6.38 5.87 5.43
®50 - - 9.17 - - 7.62 9.83 8.74 11.6 10.7 9.83 9.12
63 — — 10.2 — - 8.48 11.0 9.74 13.0 11.9 11.0 10.2

IN - m = 10.2 kgf - cm
FHRE TEEEE 6

D10G-1M | D10G-1L

i
., +8 ®12+16 | +0.08° | *0.10°
@ %‘!]’ _ 6 ®20+25 | £0.07° | +0.09°
®32+40 | +0.06° | +0.08°
®50-63 | +0.05° | *0.06°

® 23-02



aegs W TOPAIP

PROFESSIONAL & HIGH QUALITY

ERhEhanE A (EAEEE R e

£ < vV £ <V
todboo Jodboo

|
|
|
|
|
Q= (RERMZHEIEET » BIMAHTRIIARETLZ

OFTIIARE ©12 ~ 25 0%

100,
\\\
50
40 AN
—~ 30
(=)
< 20 AN AN
E N\
R
] \\ NG
i ~ AN
s N\
o o5 AN
£ 4
3 \
2 N
5 10 20 30 40 50

WeXRE © V(m/min)
A wsmzis
1 BB SIEIR RS » EITRTREE 30st Ll THE o
0 RERBR A BN R o

ORIIARE ©32 ~ 63 #F
2000

5 10 20 30 40 50

WEEE © V(m/min)
A wmmzas
S 1 {ERSIBNSERRS » EATIREEESE 50st LTS «
S0 ¢ REBRE A B R (R o

® 23-03



@ Tor AIr

PROFESSIONAL & HIGH QUALITY

DHI0[EEN) A& 012 ~ 25/ MRS
EO5R
AR a b ® d e
®12 |44[74[37| 2 |62
OXA" R 6 ®16 | 4474372567
_ ®20 |54|84|45|28]|78
. AR T ) ) ) ) - ®25 |54|84|45| 3 |82
S || _
e 1 3 Y PN
m* Lli i) @ © A N / 77\\ o o
= { / S \ / 1
XA \ 4_// X W - = = = — ;I \\ /V' !
3 d
=5 1 «@ ® )a\j C>
. 6 . e
- 4-YY R YL — =
WB INET) A B
4-MM 3R ML
4NNEZ z WA Lo
i ~ ASBEEE
I o O
) [ [V 7 .
7
-l
o ! g =
N | c i3
S {——«@»——} g ) = = = = = = > U S
N iy
[ 7 Y z £
1 S 4-OOAEFL = o <
4-00B M7 —:@ - . ‘
& OL 11 ™= B B B B - OXAEE ||
2.p © @
e = L | L
= GA GB PB
5 2-p ;
s % PA + 1772 _ J o
e FAFB_ C+ 172 E G
B+ 172
A+1TR |
A - E
D10G-1M D10G-1L B | C |DA D10G-1M D10G-1L FA | FB | G | GA
I \| 10-50st | 75~100st | 100st 1 | 30st L [40~100st [ 100st 1 D10G-1M | D10G-1L | 10~50st| 75~100st | 100st 1 | 30st | |40~100st| 100st 1
®12 | 42 | 605 | 85 | 43| 55 | 85 |42 |29 | 6 8 6 0 | 185 | 43 | 43| 55 | 85 | 95 | 35 | 26 | 11
®16 | 46 | 645 | 95 | 49 | 65 | 95 |46 |33 | 8 10 8 0 | 185| 49 | 49| 65 | 95 8 5 30 | 11
®20 | 53 84.5 63 | 80 | 104 | 53|37 |10 12 10 0 315 63| 80 | 104 | 10 6 36 | 105
®25 | 535 85 69.5 | 85.5 |104.5(53.5/37.5| 12 | 16 13 0 315 69.5| 855 |104.5| 11 6 42 | 115
\
GB| H|HA| J |L| MM |ML| NN |OA |OB|OL| P PA|PB|PW| Q| R | S T U | VA | VB
LY
®12 | 10 | 58 | M4 | 13 | 18 | M4x0.7 | 10 |[M4x0.7| 43 | 8 |45|M5x0.8| 13 | 8 | 18 | 14 | 48 | 22 | 56 | 41 | 50 | 37
®16 | 95| 64 | M4 | 15 | 22 | M5x0.8 | 12 |[M5x0.8| 43 | 8 [45|M5x0.8| 15 | 10 | 19 | 16 | 54 | 25 | 62 | 46 | 56 | 38
®20 [105| 83 | M5 | 18 | 24 | M5x0.8 | 13 |[M5x0.8| 5.3 [9.5|55| Rc1/8 | 125|105 | 25 | 18 | 70 | 30 | 81 | 54 | 72 | 44
®25 | 11 | 93 | M5 | 21 | 30 | M6x1.0 | 15 |[M6x1.0| 5.3 |9.5|55| Rc1/8 | 12.5| 135|285 | 26 | 78 | 38 | 91 | 64 | 82 | 50
Eaf”—ﬁ“ WA W8 X XA XB YY YL z
HIE \| 10~30st | 40~100st | 125~200st |250st~300st| 300st 1 | 10~30st | 40~100st | 125~200st | 250st-300st | 300st
»12 20 40 110 | 200 — 15 25 60 105 — 23 3 35 | M5x0.8 10 5
d16 24 44 110 200 - 17 27 60 105 - 24 3 35 M5x0.8 10 5
20 24 44 120 200 300 29 39 77 117 167 28 3 3.5 M6x1.0 12 17
25 24 44 120 200 300 29 39 77 117 167 34 4 45 M6x1.0 12

® 23-04



aegs W TOPAIP

PROFESSIONAL & HIGH QUALITY

DHI0[EEN) A& ©32 ~ 63/ HMURT _
;E?sg a b ® d e
®32 |65(105/55|35|95
H7 oo
OXAT AR XL ®40 |6.5[105/55] 4 | 11
1 ®50 | 8513575 |45 135
1 D63 11 {175/ 10 | 7 |18.5
S AZBREE 1— - - - - - -
: . —1 =
8 R ! \ -~ i / ~ i
ob T EB & O N / \\ A
><r { / I \ ,7} m\ o
XA \ é_// = ) = = = = = -i—(\ \\ %
XC ] d
x O o © Ledet
W A EEE AHfEEd
4-MME ML
4NN EZ Z - A - ! /
. AZBRE ,
. .
a O - - - - - - .
e 4} £
: =
8 -
o . o BE
= gl = = = = = § X 5 U ng e <z
i<| : o v L::8
| f— z K
U 4-OOA B - o <
4-00B M7, - 1
& OL T 11 - - - - — - G °
n ‘ PA ‘ ‘ R DXA™ S XL o & \
- 2:p i
E:(G | T T T 7_"’—'4——]
R GC GB PB
& ! | 2.p |
2 PA + 1772 o IR
° FAFB, C+17%2 _E
B+ 17%2
A+ 1712 o
\ E25% A DB E
D10G-1M D10G-1L B C | DA D10G-1M D10G-1L FA FB G GA
HIFE \| 25~50st | 75~200st | 25~50st | 75~100st | 125~200st D10G-1M|D10G-1L | 25~50st | 75~200st | 25~50st | 75~100st | 125~200st

®32 97 102 81 98 118 |59.5|37.5| 16 20 16 375 | 425 | 215 | 385 | 585 12 10 48 12.5
®40 97 102 81 98 118 | 66 | 44 | 16 20 16 31 36 15 32 52 12 10 54 14
®50 | 106.5| 118 93 114 134 | 72 | 44 | 20 25 20 345 | 46 21 42 62 16 12 64 14
®63 | 106.5| 118 93 114 134 | 77 [ 49 | 20 25 20 295 | 41 16 37 57 16 12 78 16.5

B
L GB| H |HA| J L MM ML NN |[OA|OB|OL| P PA | GC | PB | PW | Q R S T U | VA | VB

®32 [11.5/112| M6 | 24 | 34 |M8x1.25| 20 |M8x1.25|6.6| 11|75 Rc1/8| 7 |125| 15 | 34 | 30 | 96 | 44 | 110 | 78 | 98 | 63
®40 | 12 | 120 | M6 | 27 | 40 |M8x1.25| 20 |M8x1.25|6.6| 11|75/ Rc1/8 | 13 | 14 | 18 | 38 | 30 | 104 | 44 | 118 | 86 | 106 | 72
®50 | 13 | 148 | M8 | 32 | 46 |M10x1.5| 22 |M10x1.5/8.6| 14 |9.5| Rc1/4 | 9 12 |[215| 47 | 40 | 130 | 60 | 146 | 110 | 130 | 92
®63 | 14 | 162 |M10| 39 | 58 |M10x1.5| 22 |M10x1.5|8.6| 14 |9.5| Rc1/4 | 14 |16.5| 28 | 58 | 50 | 130 | 70 | 158 | 124 | 142 | 110

EE/%L_? WA L X XA XB YY YL 4
FHEEY 25st | 50~100st | 125~200st [250st~300st| 300st 1 | 25st | 50~100st | 125~200st | 250st~300st | 300st T

®32 24 48 124 200 300 33 45 83 121 17 42 4 45 | M8x1.25 16 21
®40 24 48 124 200 300 34 46 84 122 172 50 4 45 | M8x1.25 16 22
®50 24 48 124 200 300 36 48 86 124 174 66 5 6 M10x1.5 20 24
®63 28 52 128 200 300 38 50 88 124 174 80 5 6 M10x1.5 20 24




v l'm-lu

< Tor Ar

Professional
and
High quality




